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Problem Solving 
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There are 35 fingers.
How many hands?

__x5=35
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A sandwich costs £2 and a box of crayons
costs £5

£5

Jack buys 5 sandwiches and 3 boxes of crayons.

How much does he spend in total?

Jack spends £|
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Is Mo correct?

Explain your answer.

Every number in the
5 times table is odd.
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a) Match the picture to the times-table fact.
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Complete the number sentences.

a) 5x5= ) =1 x5
b) =9x5 9) 5 x =5
Q) 5x6= h)5x0=
d) 5x =40 )10=5x

e 35= x5 ) x5 =60
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Tubes of tennis balls come in packs of
2and5

Whitney has 22 tubes of balls.

How many of each pack could she
have?

How many ways can you do it?
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How much money does Ron have?

Complete the multiplication.

x =

Ron has p.





